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Question Id : 92090613165 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

el fau U T ®1 eyde Uge] Ui & I -

arad # S2-UH ol 98 TUEA ¢ S 4H, SIfd, 59 & WEHIG DI g B Udhdl & 3R YR #
Fa@! fiRkl a1 81 |G &1 HHi0l WG B g B o WA g faume wgeadn, @,
eHHfA Ud ISRd1 $T U3 UGl 81 3k 2 UF o fay 7 U1 Ud Aaiy &1 Uy SuHE
gg HIFd ged &1 WrHIfd® gt g1 fayad 341 &1 Fard g1 1 Yadrdt 391 Wew d o4 ¥
Jqudd d® &, BRI Ud Hie-Agdl A & G- gial g; R ol Jrgyf @ 3@ Im
3felifre gl g |

fOh= SHRT 2 HURd i fay & GHwd 330 & Yerad 8| IR T UieR fdag 7iRd favre uiey @1
Jullyd ard feured it goe 81, Yo afémn ¥ faxma 9rR forgd aFd =Rl &1 gERr
TE1 81, 9] W NShdd JHY-H0g U SOl UH UTaH SATHT &1 gerdl 8, s Aiarer |
IHEd A B Fadl ©id O Udld 8idl 8, AH UPfa aararsd el A&l ggad 3R
urddt #1 ufdzar yrRu S PR W iy g &t |reqr $a o W8 81, e oft Set
HIAR T | 71Rd &1 3HT B g, Tl gHId HRa Y A 59 3y &1 U\ 9 ghme

Sub questions

Question Number : 1 Question Id : 92090613166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dE S H-91 A & ol Hgurd R gia Udhdl R g oIl 82

(1) fIme g (2) W-IW
(3) HFG-UH (4) @ e
Options :

92090652001. 1
92090652002. 2
92090652003. 3
92090652004. 4

Question Number : 2 Question Id : 92090613167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



919 1 Fu U U € UF SHTHBYA (Assertion A) & ¥ # fifad @ Ot g1 39D BRUI
(Reason R}%F‘I ff;

HYFYT A - SOl fay & UF ¢d 7FE 0H 61 UYH S 8| TR & SER)
PRUIR : Og "4 gad @ Widifa® gl gl
JSWRIF HYF & 3l |, 1 S0 710 fdwedl § 9 ¥l I &1 994 $ifou

(1) ASIRRGH U™ € SRR, A DI Hol ARAT &

(2) AJRRGH THE, AFTR A D U BT el &
(3) AUIE AMBAR AT

4) AHAE AlPTRITE

Options :

92090652005. 1
92090652006. 2
92090652007. 3
92090652008. 4

Question Number : 3 Question Id : 92090613168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

b e A ATy 8-

(1) et (2) S
(3) dHHg (4) ®:%g
Options :

92090652009. 1
92090652010. 2
92090652011. 3
92090652012. 4

Question Number : 4 Question Id : 92090613169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘e Uea PI A -
(1) WIeifdd (2) URSTHS
(3) diipd (4) SEAH

Options :



92090652013. 1
92090652014. 2
92090652015. 3
92090652016. 4

Question Number : 5 Question Id : 92090613170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR I 1 Iugad e g -

(1) <A (2) SNUH B HEd
(3) HRIRIIW (4) WA HEH
Options :

92090652017. 1
92090652018. 2
92090652019. 3
92090652020. 4

Question Id : 92090613165 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

i feu U =i &1 eHYde Ugdr uHl & I -

dRad § SU-UH o 98 TEA © o yH, S1f), 59 & HeHd B g IR Uhdl & IR YA §
Faa! fokl a1 81 |G &1 B0l HId B g B o U9 g f9eme wged), @A,
eHHfA Ud ISRd1 T UIS UGl g1 3k 0 UF o fay 7 U1 Ud Haid &1y SuHE g
gg U4 g3d &1 WiHifa® git 81 fayad 3@ &1 Fard 81 a1 yaarft 3961 Wew o o4 4
qgud d% &P, HRdl U9 Hig-sdl 9 &1 HA1 gl &; T il argyf@ & 3@ oW
3clifdbe grar g |

o= SHRT &2 HURA dl fay & GHwd <30 # Gerad 8| IR ¥ IR e 7iRa favre dey @1
geityyd waTe fewrera forgest Hoe g, Yo afémn # fana R o wid =Rl &1 uERr
TE1 1, O] W NShqd JHY-THG R SOl URH TG T4 &I qerdt 8, ord Aiarer |
IS A4 B Iadl Bfd T ydld gl 8 7 UPfa Hareisd el Wrdl ugaee o
Ut F1 ufdzar yRu S MRS W iy fRrg &t areEr S o W8 81, Sa oft et
HIIR A T 7RG &1 3fJHd B &, Ol gt YRd YT 9 59 S(uF &1 39 = gem?

Sub questions

Question Number : 1 Question Id : 92090613166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

a8 HH-91 T9AA & forad "eyTd g gl Udhdl R gl oifd 82

(1)  faend ggegar ) <U-IW
(3) HHE-UH (4) & n
Options :

92090652001. 1
92090652002. 2
92090652003. 3
92090652004. 4

Question Number : 2 Question Id : 92090613167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 31 YA AU U § U HUSYA (Assertion A) F ®U ¥ ffEd g O g IS HRUI
(Reason R;%Fcr ﬁ;

AMYBYT A : U UE ol fay ¥ U9 Ud WG UF &1 Uy |9 § | (TR & 3FAER)
FRUR : Ug HI-d gad &1 WIHifas® gil gl
JURIF HYA & 3clid |, i S0 710 [dbedl & 9 "l 3 &1 994 $ifelw

(1) ASRRIA T E SRR A D Tel AT &

(2) AJRRIATAE, AFTR A B Ul ARAT el &
(3) ATIE AR AR

@) ASEAE APTRITR

Options :

92090652005. 1
92090652006. 2
92090652007. 3
92090652008. 4

Question Number : 3 Question Id : 92090613168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Nghq' sc A AT 8-

(1) gl (2) 9
(3) dH®Bg 4) B: B
Options :

92090652009. 1
92090652010. 2
92090652011. 3
92090652012. 4

Question Number : 4 Question Id : 92090613169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3l s P fdeld -

(1) Wl (2) URcidE
(3) e (4) 3ZEdA®
Options :

92090652013. 1
92090652014. 2
92090652015. 3
92090652016. 4

Question Number : 5 Question Id : 92090613170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRl T 1 ug e i g -

(1) WA (2) SN UH B HEd
(3) HRAITW (4) TRISY HEH
Options :

92090652017. 1
92090652018. 2
92090652019. 3
92090652020. 4

Sub-Section Number : 2
Sub-Section Id : 920906429
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 6 Question Id : 92090613171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt weg # o9 ¥4 @ U uerd a1 sufda &1 |1y 81T &-
A T

B. UdhddH
C. ddd

D. dgdad
S
414 fu U ol # 9 ¥ad Iugdd IR &1 999 SIS

(1) dd A B
(2) dd B
(3) @ad C, D
(4) &dd D

Options :

92090652021. 1
92090652022. 2
92090652023. 3
92090652024. 4

Question Number : 6 Question Id : 92090613171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



famrt wreg 7 forg wu ¥ us yard a1 safdd &1 iy giaT &-
A &g

B. UdhddH
C. ddd

D. ®gddd
E. &l
1 fau 1 faeedl # 9 9e8 IUge IR BT 90 Difor

(1) &dd A B
(2) dd B
(3) @dd C, D
(4) &dd D

Options :

92090652021. 1
92090652022. 2
92090652023. 3
92090652024. 4

Question Number : 7 Question Id : 92090613172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & 91y g 1| & A S

- -l
(a) Tewreg | i Faerdt 81 () HuaH
(B) M F fore Hrar a7 5| () SAHBUERS
(€ TSHUHIAMIEEI () 3UEH
(D) ©dIER-GR YA @I ¢ (IV) HUBRS

2 fau 7u fasedi # 9 9 IR &1 994 Difr;

(1 (A=), (B)-(, (O)-(IV), (D)-(II)
(2) (A0, (B)-(I), (C)-(l), (D)-(IV)
(3) (A=), (B)-(IV), (O)-(li), (D)-(1)
(4)  (A)-(V), (B)-(11), (©)-(1), (D)-(1)



Options :

92090652025. 1
92090652026. 2
92090652027. 3
92090652028. 4

Question Number : 7 Question Id : 92090613172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It | & Iy gt 1 1 e S

- -l

(A) fewTea @ i FAeed g1 () HUEH
(8) IM & fou W aa M| () SAFHUHERS
(€) TSHIUH AW IEI 6 () SareH
(D) WdIgR-gR 9 &1 71 (IV) SUHRE
19 fau U fasedl 7 § gl IR F1 994 SIS

(1) (A=), (B)-(I), (C)-(IV), (D)-()

(2) (A1), (B)-(l), (C)-(In), (D)-(1V)

(3)  (A)-(I), (B)-(IV), (C)-(1), (D)-(1)

(4)  (A)-(IV), (B)-(11), (C)-(1), (D)-(111)
Options :

92090652025. 1
92090652026. 2
92090652027. 3
92090652028. 4

Question Number : 8 Question Id : 92090613173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



C. oad

D. farst

E. SagHl

1< 13 1T faeel # 9 Hel IR &1 997 Bifee :
(1) dd AE

(2) dd B

(3) @dd C
(4) &dd D, E

Options :

92090652029. 1
92090652030. 2
92090652031. 3
92090652032. 4

Question Number : 8 Question Id : 92090613173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



C. oad

D. fHursT

E. SagHl

1< 13 1T faeel # 9 Hel IR &1 997 Bifee :
(1) dd AE

(2) dd B

(3) @dd C
(4) &dd D, E

Options :

92090652029. 1
92090652030. 2
92090652031. 3
92090652032. 4

Question Number : 9 Question Id : 92090613174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ddifad &1 IUgd IR 94 Bl

ST ot i, 7T 1 AT

(1) IS TG (2) Udl & 3 R AT @A

(3)  HHI @A, A8l dl yEn (4) olt /¢t A B Toban, I A Ag] @l
Options :

92090652033. 1
92090652034. 2
92090652035. 3
92090652036. 4

Question Number : 9 Question Id : 92090613174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ddifad &1 IUgd IR 94 Bl

ST ot i, 7T 1 AT

(1) S TG (2) Udl & 3 R AT @A

(3)  HHI @A, A8l dl yEn (4) olt /¢t A B Toban, I A Ag] @l
Options :

92090652033. 1
92090652034. 2
92090652035. 3
92090652036. 4

Question Number : 10 Question Id : 92090613175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
aTe H W@ifehd Y Ueg & R W Y sk I
39 GBI f TTRAT SR 1R ¥ SEHR 181 faoaT i g

(1) 3R 2) TR
(3) FABR (4) TAPR
Options :

92090652037. 1
92090652038. 2
92090652039. 3
92090652040. 4

Question Number : 10 Question Id : 92090613175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
aTe H W@ifehd Y Ueg & R W Y sk I
39 GBI f TTRAT SR 1R ¥ SEHR 181 faoaT i g

(1) 3R 2) TR
(3) FABR (4) TAPR
Options :

92090652037. 1
92090652038. 2
92090652039. 3



92090652040. 4

Question Number : 11 Question Id : 92090613176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7 cm BT % T TR 1 T AR - {,T: %Ej

7
(1) 4158 cm? (2) 540 cm?
(3) B16cm? (4) 280 cm?
Options :

92090652041. 1
92090652042. 2
92090652043. 3
92090652044. 4

Question Number : 11 Question Id : 92090613176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7 cm 1 3 U@ 1710 T Ui A - {,T: %Ej

7
(1) 4158 cm? (2) 540 cm?
(3) 616 cm? (4) 280 cm?
Options :

92090652041. 1
92090652042. 2
92090652043. 3
92090652044. 4

Question Number : 12 Question Id : 92090613177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FaH > FTAA FE B

784 +14 +598 +13 +? =99% of 2500

(1) 2475 (2} 2373
(3) 2565 (4) 2285
Options :

92090652045. 1
92090652046. 2
92090652047. 3
92090652048. 4

Question Number : 12 Question Id : 92090613177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
{9 7 2 T {9 ;T B

784 +14 +598 +13 +? =99% of 2500

(1) 2475 (2) 2373
(3) 2565 (4) 2285
Options :

92090652045. 1
92090652046. 2
92090652047. 3
92090652048. 4

Question Number : 13 Question Id : 92090613178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

digri & fei # @l 9a § us g 9 Gt a¥gsii R 10% @ &1 9o 3t sifdéd g
% 1450 B Ud Sidbe qyl 3ifdhd T 3850 UAD DI &1 Bl W TR UH Ugd B fbat
R ger1 gfe

(1 %2735 (2) 32835
(3) 33150 (4) %2935
Options :

92090652049. 1
92090652050. 2
92090652051. 3
92090652052. 4



Question Number : 13 Question Id : 92090613178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

digril & &1 7 &l 9a # Us g A Gt a¥gsfi R 10% §e &1 9o 3t sifdd g
% 1450 B Ud Sibe qyl 3ifdbd e 7850 YD DI 1 Bl Wa- W Uh Agd B fbant
A I grit?

(M 2735 (2) 32835
(3) 33150 (4) %2935
Options :

92090652049. 1
92090652050. 2
92090652051. 3
92090652052. 4

Question Number : 14 Question Id : 92090613179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ud ®R 12 e § 20 km T St g1 TfE 39T 7T BT 20 km/h T2T S S A1 I8 G116
a4 & H faod=1 w1y @imm?

i 1
(1 E'EI'EI (2) 3 Hdl
7 LA i ..
3 — Hcl 4) —Hcl
(3) 3 (4) 2
Options :

92090652053. 1
92090652054. 2
92090652055. 3
92090652056. 4

Question Number : 14 Question Id : 92090613179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U ®R 12 [ # 20 km 79 S0 €1 fe S8BT 711 BT 20 keny/h 2T & WU 1 I g8 &1
ad &34 | fbd=1 gHg @

I 1 .
1 [ 2) =
M 3 (2) EETEI

7 ;
3 — YdI 4) — NI
(3) 3 (4) 2
Options :

92090652053. 1
92090652054. 2
92090652055. 3
92090652056. 4

Question Number : 15 Question Id : 92090613180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$© M FYRON 4TS R 3 a8 H 214,880 U1 5 T4 T 716,800 Bl SIcH & | T @1 & Fd
C2l

(m 6.5% (2) 7%
(3) 8% (4) 8.25%
Options :

92090652057. 1
92090652058. 2
92090652059. 3
92090652060. 4

Question Number : 15 Question Id : 92090613180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$© M FYRON 4TS R 3 a8 H 214,880 U1 5 T4 T 716,800 Bl SIcH & | T @1 & Fd
C2l

(m 6.5% (2) 7%
(3) 8% (4) 8.25%
Options :

92090652057. 1
92090652058. 2



92090652059. 3
92090652060. 4

Question Number : 16 Question Id : 92090613181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AS®! B HaAR H Yaq A F Ugedi g1 o I9& 3 8, I9& Wi i 71 81 Y& iR
FaR & HH BR Y TIdd 5 & AW fha-l d8& &7

(1 33 (2) 34
(3) 35 (4) 36
Options :

92090652061. 1
92090652062. 2
92090652063. 3
92090652064. 4

Question Number : 16 Question Id : 92090613181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TSP B! HaAR H Yd- 3AF J Uggdi g1 g 39 3 €, I9P e i 74 €1 Yad 3R
FHdR $ H~H BR ¥ 91ad dsd & A a1 a5& 87

(1 33 (2) 34
(3) 35 (4) 36
Options :

92090652061. 1
92090652062. 2
92090652063. 3
92090652064. 4

Question Number : 17 Question Id : 92090613182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



®YT: U YRA9Y § $Had U [qyfderey g angu

dd |- 39y f[aenfidl grr ure @ s Uit Al 34 &g 9ed gl
I:  Nefirs AFST H UhEUd aF & e 38! UhHE IRl B

SR H W $H HI@) b HYF ST AL HIA1 8?2

(1) Paddsd |

(2) Fadas

(3) TPISRTD I

4) AgidabIRAE T Il
Options :

92090652065. 1
92090652066. 2
92090652067. 3
92090652068. 4

Question Number : 17 Question Id : 92090613182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
®ud:  ggof YRaay § Fad U [ayfaened g afgu
db | 399 faefdal gry v @ g Uil il ¢ gq "ewd gl
Il:  N&fOrs AFST H UhHETdl aF & T 38! ThHE IR B
SURIE H A B HI(@) a0 HU BT YA HIA1 82

(1) FHaadd|

(2) Fadd®

(3) dPISRTAD Il

4) A ddIRA TS Il
Options :

92090652065. 1
92090652066. 2
92090652067. 3
92090652068. 4

Question Number : 18 Question Id : 92090613183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

ot U1 |1 B

AN
NE/N\2/4e\7/
/NN 5N\

W

-

(1 13 ) 14
(3) 20 4) 21
Options :

92090652069. 1
92090652070. 2
92090652071. 3
92090652072. 4

Question Number : 18 Question Id : 92090613183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o HEAT [ Y

/N
AN
N/

R

m 13 ) 14
(3) 20 4) 21
Options :

92090652069. 1
92090652070. 2
92090652071. 3
92090652072. 4

Question Number : 19 Question Id : 92090613184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

1= &t snepfa 7 Brpior o1 e J1d

(M 48 (2) 42

(3) 44 (4) 38
Options :

92090652073. 1
92090652074. 2
92090652075. 3
92090652076. 4

Question Number : 19 Question Id : 92090613184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e <t snepfa A BPepion 1 Hem I1d

(1) 48 (2) 42

(3) 44 (4) 38
Options :

92090652073. 1
92090652074. 2
92090652075. 3
92090652076. 4

Question Number : 20 Question Id : 92090613185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

12 & aapfa (x) W Sd-Bid 1 ugaH &Y

(4)

3 (X)

ee

Options :

92090652077. 1
92090652078. 2
92090652079. 3
92090652080. 4

Question Number : 20 Question Id : 92090613185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I &t i (x) H Sd-Bid & ugaH H

(4)

3G (X)

ee

Options :
92090652077. 1



92090652078. 2
92090652079. 3
92090652080. 4

Question Number : 21 Question Id : 92090613186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRAaY &1 UYH S0 & AFd A1 &1 o o 96dl

(1) &0 (2) o
(3) =g (4) IS4 @er
Options :

92090652081. 1
92090652082. 2
92090652083. 3
92090652084. 4

Question Number : 21 Question Id : 92090613186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRAAY $1 UYH S0 S\l AFd 1] &1 & o Ybdl 8

(1) d&10 (2) ®©d
(3) TF3S (4) TS @
Options :

92090652081. 1
92090652082. 2
92090652083. 3
92090652084. 4

Question Number : 22 Question Id : 92090613187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR Sy & & srgede & sraria I smuer diftd &1 St 87

(1) 3f3dq 342 (2) S5 350
(3) ST 362 (4) 3FTdE 352
Options :

92090652085. 1
92090652086. 2
92090652087. 3
92090652088. 4

Question Number : 22 Question Id : 92090613187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR Ay & 9 3rf=a & srarid APRT 3y aiftd 1 &l 82

(1)  Sffwdq 342 (2) 3ff%da 350
(3) ST 362 (4) TG 352
Options :

92090652085. 1
92090652086. 2
92090652087. 3
92090652088. 4

Question Number : 23 Question Id : 92090613188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hia & By Ry MU
S| U FiRa T 7 5 3 &1 S AT S B AES IHS! AT FH B

FUA ;i voneh # a¥geii iR Jarsit F1 yaTe AP oy H1 AFES € UE U FufRa
rarafd 7 e yorrel 1 Iaure wfE 2|

IR HYA & 3fdld |, Hid S0 770 [decdl § 9 9at Iaia! 994 Sivie

(1) ST R 1S e
(2) HYF | SR 11 SHI TTAd 8
(3) Y| TEl 8, Alhd HYA 11 TTAd &
(4) Y1 TEd g, dfed B || el 8
Options :
92090652089. 1
92090652090, 2

92090652091. 3
92090652092. 4

Question Number : 23 Question Id : 92090613188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i3 2 By fRg MU §;
S| U FiRd a9 7 6 39 &1 S AT S B AES IHS! AT R B

FYA I e yone F awgsit ofR Jarslt &1 wate APt oMy B AHES § U8 v FufRa
ey 7 snfdfes yorrelt & Iare wfE g

IR HYF & 3fdld |, 1 S0 770 [decdl #§ 9 98t I 994 Sivie

(1) Y1 3R D S B
(2)  HYF | SR 11 HI TTAd @
(3) HYFIHEI 8, Al HYT I TTad &
(4) HYFI7Ad g, dfed B || Hel §
Options :
92090652089. 1
92090652090, 2

92090652091. 3
92090652092. 4



Question Number : 24 Question Id : 92090613189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{9 7 @ 19 Pedla Ferd # 700 el 19 9ren Uy Bedrd REarg! 3R s=Rigy oo @R
g1

(1)  forHe A (2) TorRRea N Trest
(3) U (4) Y&d daistsuis
Options :

92090652093. 1
92090652094. 2
92090652095. 3
92090652096. 4

Question Number : 24 Question Id : 92090613189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{9 7 @ 19 Pedla Ferd # 700 el 19 9ren Uy Bedrd REarg! 3R s=Rigy oo @R
g1

(1)  forHe A (2) TorRRea N Trest
(3) U (4) Y&d daistsuis
Options :

92090652093. 1
92090652094. 2
92090652095. 3
92090652096. 4

Question Number : 25 Question Id : 92090613190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hadl g1 e A 4 i A famrd gt 82

A. Bl
B. HaldI

C. TRWES
D. ufgw

E. S
19 fau v faeedi § ¥ 9el IR &1 994 Difort

(1) &dd A B3RD
(2) ®ad A B3RE
(3) Fdd A C3RD
(4) PadA DSIRE

Options :

92090652097. 1
92090652098. 2
92090652099. 3
92090652100. 4

Question Number : 25 Question Id : 92090613190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hadl g1 e A 4 i A famrd gt 82

A. Bl
B. HaldI

C. TRWES
D. ufgw

E. 37

19 fau v faeedi § ¥ 9el IR &1 994 Difort

(1) &4dd A B3RD
(2) &dd A, BS3IRE
(3) &dd A C3RD
(4) PAAA D 3RE
Options :
92090652097. 1
92090652098 2

92090652099. 3
92090652100. 4

Part B: B Ed Humanities and Social Sciences

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section 1d :

Question Shuffling Allowed :
Is Section Default? :

920906262
2

Online
Mandatory
75

75

300

Yes

0

1
920906430
Yes

null

Question Number : 26 Question Id : 92090613191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
“In politics ... hero worship 15 a sure road to degradation and eventual dictatorship.”

This statement is given by

(1) Mahatma Gandhi (2) Jawaharlal Nehru
(3) Sardar Patel (4) B.RH. Ambedkar
Options :

92090652101. 1
92090652102. 2
92090652103. 3
92090652104. 4

Question Number : 26 Question Id : 92090613191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S EEIGE| T e, fIRTEE 3R quTd arrael &1 R TR B |
g Sy fbus grifear mar g

(1) wHere e (2) GidIgdd TgE

(3) WERUH (4) o IdSH
Options :

92090652101. 1
92090652102. 2
92090652103. 3
92090652104. 4

Question Number : 27 Question Id : 92090613192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The zone which 1s characterized by a sharp change in the density of the seawater in
the tropical and a sub-tropical region is called?

(1) Thermocline (2) Thermohaline
(3) Halocline (4) Hydro cline
Options :

92090652105. 1
92090652106. 2
92090652107. 3
92090652108. 4



Question Number : 27 Question Id : 92090613192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forg Iwisfeddi ik I Hieddig &3 &1 gl oid & 9-d ¥ dig 9Rad- gR1 fagdied
foran ST §, dedndal g -

(1) yHfeEA (2) yHieleH
(3) g (4) BISSIRIEA

Options :

92090652105. 1
92090652106. 2
92090652107. 3
92090652108. 4

Question Number : 28 Question Id : 92090613193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is basically a summary of resources and expences of the business and calculates
the net figures termed as profit and loss?

(1) Trading account and profit loss account
(2)  Receipt and payment, Income and expenditure account
(3) Funds flow statement

(4) Balance sheet

Options :

92090652109. 1
92090652110. 2
92090652111. 3
92090652112. 4

Question Number : 28 Question Id : 92090613193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T & HH1EEl SR 00 &1 gd U § &1 aidd g SR o i R g4 & ddy & fHaa
TP P U HA1 § ?

(1) YR Gl 3R @rH- g1 &l (2) WIS 3R YTdH, 319 3R 349 Gl
(3) &Y yarE faao (4) qaNgA

Options :

92090652109. 1
92090652110. 2
92090652111. 3
92090652112. 4

Question Number : 29 Question Id : 92090613194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sentence in National emblem, ‘Satvamev Jayate’ is taken from

(1) [shasyaopnishad (2) Kathopnishad
(3) Kenopnishad (4) Mundakopnishad
Options :

92090652113. 1
92090652114. 2
92090652115. 3
92090652116. 4

Question Number : 29 Question Id : 92090613194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AP Ydltes # sifdbd a1y wAd S feran g -

(1)  SURGUFAYg (2) H3MAYg
(3)  FAUAENEG (4) HUSHIUMFEYG
Options :

92090652113. 1
92090652114. 2
92090652115. 3
92090652116. 4

Question Number : 30 Question Id : 92090613195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Every wear on 29t June we celeberate ‘Statistics Day’ commemorating the birth
anniversary of:

(1) K.C. Pant (2) P.C. Mahalnobis
(3) Acharya Raghuveer (4) M.B. Buch
Options :

92090652117. 1
92090652118. 2
92090652119. 3
92090652120. 4

Question Number : 30 Question Id : 92090613195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U a¥ 29 G @1 gH [BaD! o auilia &1 g B & fog wieRew fidaw #AK 8 2

(1) &L U (2) UL AgeHIEy
(3)  3rEd gdR (4) A g
Options :

92090652117. 1
92090652118. 2
92090652119. 3
92090652120. 4

Question Number : 31 Question Id : 92090613196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a fabric weaving defect?

(1) Misreed (2) Slub
(3) Chafe (4) Fuzz
Options :

92090652121. 1
92090652122. 2
92090652123. 3
92090652124. 4



Question Number : 31 Question Id : 92090613196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafeied & 4 &5 W SUSI 1S BN Tel § ?

1 fuds (2) YAl
3) TS B B (@) (4) I (B
Options :

92090652121. 1
92090652122. 2
92090652123. 3
92090652124. 4

Question Number : 32 Question Id : 92090613197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which 1s the longest river of the world:

(1) Nile (2) Amazon
(3) Fanga (4) Mississippi
Options :

92090652125. 1
92090652126. 2
92090652127. 3
92090652128. 4

Question Number : 32 Question Id : 92090613197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fay &1 e el A HA A 2

() (2) 3
(3 T (4) T
Options :

92090652125. 1
92090652126. 2
92090652127. 3
92090652128. 4



Question Number : 33 Question Id : 92090613198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The emergency was declared on 25th June 1975, by innoking the following article:

(1) Article 352 (2) Article 370
(3)  Article 356 (4) Article 14
Options :

92090652129. 1
92090652130. 2
92090652131. 3
92090652132. 4

Question Number : 33 Question Id : 92090613198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeed & 9 {69 swde &1 Uddd X 25 S 1975 I SHT9IddTd & 9Nl & 73 of -

(1) SF%e 352 (2) 3RS 370
(3)  3fI=3a 356 (4) 3IDT 14
Options :

92090652129. 1
92090652130. 2
92090652131. 3
92090652132. 4

Question Number : 34 Question Id : 92090613199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The full majority central government before the yvear of 2014 was formed in:

(1) 1984 (2) 1996
(3) 2004 (4) 1991
Options :

92090652133. 1
92090652134. 2
92090652135. 3



92090652136. 4

Question Number : 34 Question Id : 92090613199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl SgHd diell Bo1d IRER a8 2014 & Ugd Fufefad 3 4 fog o F ot 4 ;

(1) 1984 (2) 1996
(3) 2004 (4) 1991
Options :

92090652133. 1
92090652134. 2
92090652135. 3
92090652136. 4

Question Number : 35 Question Id : 92090613200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When and by whom was the Sanskrit College at Varanasi started?

(1) 1791, Jonathan Duncan (2) 1791, Warren Hastings
(3 1884, Charls Woods (4) 1781, Warren Hastings
Options :

92090652137. 1
92090652138. 2
92090652139. 3
92090652140. 4

Question Number : 35 Question Id : 92090613200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR § Terd Pias od R fad gr1 =ifad fagn mar o1 2

(1) 1791 SFTYA 64 (2) 1791 aRA gfEe
(3) 1884 AT 489 (4) 1781 dRA g™
Options :

92090652137. 1
92090652138. 2



92090652139. 3
92090652140. 4

Question Number : 36 Question Id : 92090613201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first non-Congress Prime Minister was

(1) V.P. Singh (2) A.B. Vajpayee
(3)  H.D. Devegowda (4) Morarji Desai
Options :

92090652141. 1
92090652142. 2
92090652143. 3
92090652144. 4

Question Number : 36 Question Id : 92090613201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UYH TR-SHIE g 4 -

(1) didl g (2) uat areodt
(3) TAS TTel (4) ARRG TS
Options :

92090652141. 1
92090652142. 2
92090652143. 3
92090652144. 4

Question Number : 37 Question Id : 92090613202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first man to set foot an moon is:

(1) Yuri Gagarin (2) Neil Armstrong
(3) Rakesh Sharma (4) Richard Brauson
Options :

92090652145. 1



92090652146. 2
92090652147. 3
92090652148. 4

Question Number : 37 Question Id : 92090613202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T HT R e 3G 9T YyH safed 3 -

(1) giariE (2) i SR
3) o T (4) fad A
Options :

92090652145. 1
92090652146. 2
92090652147. 3
92090652148. 4

Question Number : 38 Question Id : 92090613203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After 1857 the British authorities decided to decentralize public finance. The first

step in the direction of separating central and provincial was taken in by
(1) 1871, Lord Mayo (2) 1870, Lord Mayo
(3) 1870, Lord Hastings (4) 1871, Lord Lytton

Options :

92090652149. 1
92090652150. 2
92090652151. 3
92090652152. 4

Question Number : 38 Question Id : 92090613203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1857 & IRia, R wRieRAET 3 e fid ) Ridfigd H3 &1 Rk R | Fia R

Uidig fa<dl & gydaIor &1 fGun 7 uyw RO " & GRT IS/ ™I
ur|

(1) 1871 918 #41 (2) 1870 @S B4l

(3) 1870 WIS g™ (4) 1871 @S fereq

Options :

92090652149. 1
92090652150. 2
92090652151. 3
92090652152. 4

Question Number : 39 Question Id : 92090613204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Twa (Batwa) ethnic Group is found in which region of the world?

(1) Congo Basn (2) Sahara Desert
(3) Sudan (4) Kenya
Options :

92090652153. 1
92090652154. 2
92090652155. 3
92090652156. 4

Question Number : 39 Question Id : 92090613204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

odl (T Jardia 99E fay & fod &7 ¥ a1 Siran @ 2

(1)  HimaEE (2) HERI HE®d
(3) gsH (4) &=l
Options :

92090652153. 1
92090652154. 2
92090652155. 3
92090652156. 4



Question Number : 40 Question Id : 92090613205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is not the major Biomes of the world?

(1) Forest (2) Desert
(3) arassland (4) Lagoons
Options :

92090652157. 1
92090652158. 2
92090652159. 3
92090652160. 4

Question Number : 40 Question Id : 92090613205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ffeifaa o @ o a1 v fay &1 ugE sfiqm @) T8 8 ?

(1) GE| (2) HEXW
(3) YN F HgH (4) AAH
Options :

92090652157. 1
92090652158. 2
92090652159. 3
92090652160. 4

Question Number : 41 Question Id : 92090613206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following i1s leverage ratio?

(1) Current ratio (2) Operating ratio
(3) Debt equity ratio (4) Inventory ratio
Options :

92090652161. 1
92090652162. 2
92090652163. 3
92090652164. 4



Question Number : 41 Question Id : 92090613206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafafEd @ 9 & 91 U UHIaH &Hd (cilals) ST § ?

(1) e iU (2) VTR 3{qUrd
(3)  HUI- Sfaqdl U (4) o1 — gl 3T
Options :

92090652161. 1
92090652162. 2
92090652163. 3
92090652164. 4

Question Number : 42 Question Id : 92090613207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DTH services are provided by

(1) Reliance Infocom limited (2) Bharat Airtel Limited
(3) Cellular Companies (4) Vodafone Idea Limited
Options :

92090652165. 1
92090652166. 2
92090652167. 3
92090652168. 4

Question Number : 42 Question Id : 92090613207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DTH 9ard & GRIUSH &1 1dl & -

(1) add gawie fafies (2) HRd UERed fafties
(3) HgeR buFAl (4) TISTHH fMsisyr fiifies
Options :

92090652165. 1
92090652166. 2
92090652167. 3



92090652168. 4

Question Number : 43 Question Id : 92090613208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one the following is incorrect regarding formulation of Councill of Ministers in
India as given in Article 75 (2) of the constitution?

(1)  The prime minister shall be appointed by the president.
(2)  Ministers shall hold office during the pleasure of the president.

(3) All the ministers share collective responsibility to the Lok Sabha.

(4)  All the ministers share collective responsibility to the Rajya Sabha.

Options :

92090652169. 1
92090652170. 2
92090652171. 3
92090652172. 4

Question Number : 43 Question Id : 92090613208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd # #EUREg & 7184, 51 & WiauE & sr=e 75 (2) # f3g1 71 8, & Hey | Fgfofed |
AP TH T8 ?

(1) uEEE @1 gl Ipufl grR1 &1 S |

(2) WO, Ayufd & v v eried dgu S

3) gl wiEET e U A die 991 & uid Soer g |
4) Tl H@ETO AfeE U W I WY & Ui SRl g |

Options :

92090652169. 1
92090652170. 2
92090652171. 3
92090652172. 4

Question Number : 44 Question Id : 92090613209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



To promot joyful learning on the topie “Moghal Architecture”, a teacher should:

(1) Emphasis on rote learning

(2)  Book reading loudly

(3) (Give readymade notes in beautiful handwriteing

(4)  Make a field visit to Tajmahal and Lal Quila during the vacations.

Options :

92090652173. 1
92090652174. 2
92090652175. 3
92090652176. 4

Question Number : 44 Question Id : 92090613209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e T ST favg W siHeyde 3y & it Uieie gq U Riad &l 9rfgu -
(1) ¥ & @ W ad <1

(2) At ST H fdre ggl

(3) Y gwfamy ¥ gd fAftfa Je 3

(4) ADY P SR dHEd SR A0 fbd BT RIT U ol H YHU HAT|

Options :

92090652173. 1
92090652174. 2
92090652175. 3
92090652176. 4

Question Number : 45 Question Id : 92090613210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If CAT is spelled as FDW, then DOG will be spelled as:

(1) JRG (2) GRJ
(3) EPH (4) BED
Options :

92090652177. 1
92090652178. 2
92090652179. 3



92090652180. 4

Question Number : 45 Question Id : 92090613210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ol CAT &1 FDW for@l 9irdi & df DOG &1 ferar e -

(1) JRG (2) GRJ
(3 EPH (4) BED
Options :

92090652177. 1
92090652178. 2
92090652179. 3
92090652180. 4

Question Number : 46 Question Id : 92090613211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the next number in sequence:

5, 11, 23, 47, ?

(1) 99 (2) 10Z

(3) 105 (4) 95
Options :

92090652181. 1
92090652182. 2
92090652183. 3
92090652184. 4

Question Number : 46 Question Id : 92090613211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H | 3Tl TSl Fid Hifeid -

5. 11, 23, 47, 9

(1) 99 (2) 102
(3) 105 (4) 95

Options :



92090652181. 1
92090652182. 2
92090652183. 3
92090652184. 4

Question Number : 47 Question Id : 92090613212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first general election in 1952 invelved simultaneous election to the Lok Sabha
and

(1) State Assemblies (2) President of India
(3) Rajya Sabha (4) Prime Minister
Options :

92090652185. 1
92090652186. 2
92090652187. 3
92090652188. 4

Question Number : 47 Question Id : 92090613212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1952 H UYH TH TG | @b JHT 3R & U 1Y g1 A 4 |
(1) Iy faury (2) HRd & Fuld

(3) TG (4) Ty HA

Options :

92090652185. 1
92090652186. 2
92090652187. 3
92090652188. 4

Question Number : 48 Question Id : 92090613213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Education as a subject matter was added in the concurrent list in the year

(1) 1986 (2) 1956
(3) 1966 (4) 1976



Options :

92090652189. 1
92090652190. 2
92090652191. 3
92090652192. 4

Question Number : 48 Question Id : 92090613213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e &1 U fawg-a%q & =9 & grddl a1 d f9 av Ser i -

(1) 1986 (2) 1956
(3) 1966 (4) 1976
Options :

92090652189. 1
92090652190. 2
92090652191. 3
92090652192. 4

Question Number : 49 Question Id : 92090613214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During Covid-19, Indians stuck abroad were brought back under the aegis of

(1) Vande Bharat Mission (2) Bhartiva Jeevan Mission
(3) PM-Life Saving Mission (1) PM-Jeevan Suraksha Mission
Options :

92090652193. 1
92090652194. 2
92090652195. 3
92090652196. 4

Question Number : 49 Question Id : 92090613214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HIfds - 19 F oA, ATy & I WRA! &1 fhud daae= & a9y ™7 T -

(1) =< YRd fAeE (2) MR St foreE
(3)  wuEHEH! - W Jid feE (4) WHFEHAT - Sita= Y& oA
Options :

92090652193. 1
92090652194. 2
92090652195. 3
92090652196. 4

Question Number : 50 Question Id : 92090613215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The qualities of an effective social science teacher would be:
(A) Have mastery over subject content
(B) Should be over friendly with the learners
(C) Have good command over language

(D) Should use corporal punishment to silence the trouble shooters

(1) (A) and (B) only (2) (A), (B) and (C) only
(3) (A)and (C) only (4) (C) and (D) only
Options :

92090652197. 1
92090652198. 2
92090652199. 3
92090652200. 4

Question Number : 50 Question Id : 92090613215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ud YT wnfore e e o fadvan g e -

A, favT — o | gerar gt afeul

B. ©HEl & ufd 3ifd - FEigof g =iy

C. MW WR 33 Ubs gl AMgU

D. JUgdl B! F1 Uid I & U HSR RIS 48 &1 Iuhv A1 F1ig

i fqu e fasedi A ¥ 9l It &1 994 Hifore :

(1) HAdA3RB
(2) FadA B3HRC
(3) HddAIRC,
4) FHadC3RD
Options :

92090652197. 1
92090652198. 2
92090652199. 3
92090652200. 4

Question Number : 51 Question Id : 92090613216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a part of the NATIONAL NUTRITION POLICY adopted
by the government in 19937

(1) Integrated Child Development Services
(2)  Control of micronutrient deficiencies among the vulnerable group
(3)  Production of organic food

(4) Fortification of essential food

Options :

92090652201. 1
92090652202. 2
92090652203. 3
92090652204. 4

Question Number : 51 Question Id : 92090613216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

a9 1993 # YRd WPR gR1 Wipd TP dwvr Ay &1 Fefafea 7 § 9 @1 @ M
Tl § -

(1) UPIPpd o [apr Jard
(2) Gud ol H G&H UINS Al $I HHI BT FEF|
(3) Sifde 3MeR &1 IdEA|
(4) AP 3MER H ArHBRI dadl o1 e

Options :

92090652201. 1
92090652202. 2
92090652203. 3
92090652204. 4

Question Number : 52 Question Id : 92090613217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not a function of the media?

(1) Transmission of values
(2) Surveillance

(3) Non analysis of facts and events, rather present them as they occurred
(4) Maobilization

Options :

92090652205. 1
92090652206. 2
92090652207. 3
92090652208. 4

Question Number : 52 Question Id : 92090613217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafeaa | @ &1 91 Hifsa &1 te sr 781 82
(1)  Hedl &1 UER

2 R

(3)  aui SR geAIs & IR faweyn &Y sda 39! 36 U # ukd &1 ol & J "fed
gl 8

(4)  @HEd

Options :

92090652205. 1
92090652206. 2
92090652207. 3
92090652208. 4

Question Number : 53 Question Id : 92090613218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The NCERT stands for:

(1) National Culture of Education Research and Thought
(2)  National Council of Educating Resources and Tools
(3) National Centre of Eduecational Reform and Truth
(1)  National Council for Educational Research and Training
Options :
92090652209. 1
92090652210. 2

92090652211. 3
92090652212. 4

Question Number : 53 Question Id : 92090613218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
NCERT 1 JUi ¥U ¢ -

(1)  “=Fd Sea? b T REd 108 g

(2) A=A ISR 3iTth Uefbien RERie uus ged
(3) YA YR BR TS ETH Tug Ty

(4)  AIFA SR BR Telp A Ry uug e



Options :

92090652209. 1
92090652210. 2
92090652211. 3
92090652212. 4

Question Number : 54 Question Id : 92090613219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Great Indian desert is

(1) Gobi desert (2) Sahara Desert
(3) Cholistan desert (4) Thar Desert
Options :

92090652213. 1
92090652214. 2
92090652215. 3
92090652216. 4

Question Number : 54 Question Id : 92090613219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferame YR Aowid & -

(1) Tl AERA (2) WERIHSRA
(3) iR AEd (4) YR AR
Options :

92090652213. 1
92090652214. 2
92090652215. 3
92090652216. 4

Question Number : 55 Question Id : 92090613220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which amongst the following does not belong to Kharif season:

(1) Peas (2) Rice
(3) Maige (4) Bajra



Options :

92090652217. 1
92090652218. 2
92090652219. 3
92090652220. 4

Question Number : 55 Question Id : 92090613220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad # § o1 1 S Bud Tel & ?

(1) #AX (2) @A
(3) HEPI (4) WToRI
Options :

92090652217. 1
92090652218. 2
92090652219. 3
92090652220. 4

Question Number : 56 Question Id : 92090613221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The planet with the highest number of moons 1s

(1) Venus (2) Jupiter
(3) Neptune (4) Mars
Options :

92090652221. 1
92090652222. 2
92090652223. 3
92090652224. 4

Question Number : 56 Question Id : 92090613221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ad i T # TeHei A ug § -

() P (2) gewfd
(3) d®u (4) HITd
Options :

92090652221. 1
92090652222. 2
92090652223. 3
92090652224. 4

Question Number : 57 Question Id : 92090613222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The need hierarchy theory of motivation is given by:

(1) Abraham Maslow (2) Henri Ford
(3) [sgae Newtron (4) Adam Smith
Options :

92090652225. 1
92090652226. 2
92090652227. 3
92090652228. 4

Question Number : 57 Question Id : 92090613222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SR &1 3zl A Rigiar e gr faufea fm m g 2

(1)  ofsTeH Hel (2) THIwWe
(3)  SfZoid e (4) USH @Y
Options :

92090652225. 1
92090652226. 2
92090652227. 3
92090652228. 4

Question Number : 58 Question Id : 92090613223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which of the following leader is associated with Narmadha Bachao Andolan

(1) Sushma Swaraj (2) Brinda Karat
(3)  Arundhati Roy (4) Medha Patkar
Options :

92090652229. 1
92090652230. 2
92090652231. 3
92090652232. 4

Question Number : 58 Question Id : 92090613223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafeied & 9 {69 Aa1 &1 AW w1 F=ei s<€iad & Y 9S8 -

(1)  YUAI WA (2) daIdRd
(3) S5 (4) YT UIEHT
Options :

92090652229. 1
92090652230. 2
92090652231. 3
92090652232. 4

Question Number : 59 Question Id : 92090613224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is known as ‘Milkman of India™

(1) Verghese Kurian (2) M.S. Swaminathan
(3) Chaudhaury Devilal (4) Amulya Ganguly
Options :

92090652233. 1
92090652234. 2
92090652235. 3
92090652236. 4

Question Number : 59 Question Id : 92090613224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

“URd &1 epd" [ Fer A g ?

() @i pRaa (2) UH.UH. WHAYA
3)  ared 3diea (4) S Tl
Options :

92090652233. 1
92090652234. 2
92090652235. 3
92090652236. 4

Question Number : 60 Question Id : 92090613225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name the state where congress was not in authority during 1952-57.

(1) Tamilnadu (2) Jammu and Kashmir
(3) Kerala (1) Both Jammu and Kashmir and Kerala
Options :

92090652237. 1
92090652238. 2
92090652239. 3
92090652240. 4

Question Number : 60 Question Id : 92090613225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I I BT A1 §ad150, Fef 1952-57 & SR BRI T H 181 o

(1) dfeErg (2) O SR HIHR
(3) @xd (4) O SR HIHR TU1 HIA
Options :

92090652237. 1
92090652238. 2
92090652239. 3
92090652240. 4

Question Number : 61 Question Id : 92090613226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Find the odd one out:

(1) Delhi University
(2) Jawahar Lal Nehru University
(3) Jamia Millia Islamia

(4) Indira Gandhi National Open University

Options :

92090652241. 1
92090652242. 2
92090652243. 3
92090652244. 4

Question Number : 61 Question Id : 92090613226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fauH 1 ugaE S |

(1) feoe fayfaemaa

(2) widreIard A% fayfayfasmey
(3)  wrferT faferr sweferan

(4)  SfeRr i Iy He fayfaemey

Options :

92090652241. 1
92090652242. 2
92090652243. 3
92090652244. 4

Question Number : 62 Question Id : 92090613227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Nagarjuna Sager Project is Located on which of the following river?

(1) Narmada {(2) Krishna
(3) Tapti (4) Periyar
Options :

92090652245. 1
92090652246. 2
92090652247. 3



92090652248. 4

Question Number : 62 Question Id : 92090613227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT} PR ufdierr Fofafed 3§ 4 feg Td wfRa g 2

(1) e (2) Pl
(3) (4) UNaOR
Options :

92090652245. 1
92090652246. 2
92090652247. 3
92090652248. 4

Question Number : 63 Question Id : 92090613228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Book ‘Kitab-ul-Hind’ was written by -

(1) Ibn Batuta (2) Raihan —al-Reish
(3) Muzaffar-al- Biruni (4) Al- Biruni
Options :

92090652249. 1
92090652250. 2
92090652251. 3
92090652252. 4

Question Number : 63 Question Id : 92090613228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TohdTe - 3d - fee qeas fad gr ferdl 715 ot 2

(1)  SES (2) YBH- 3Hd - /Y
(3)  HARH — 3 — G5 (4) 3fd - 51
Options :

92090652249. 1
92090652250. 2



92090652251. 3
92090652252. 4

Question Number : 64 Question Id : 92090613229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bhagat Singh, Sukhdev and Rajaguru were sentenced to be hanged. The sentence was
carried out on

(1) 22 March 1931 (2) 21 March 1931
(3) 20 March 1931 (4) 23 March 1931
Options :

92090652253. 1
92090652254. 2
92090652255. 3
92090652256. 4

Question Number : 64 Question Id : 92090613229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WiTd g, YE@ad 3R IS T & Bl B Toll A1 713 off | 98 Foll &) fpafad &1
di|

(1) 22 HE 1931 (2) 21 #1931
(3) 20 W 1931 (4) 23 A 1931
Options :

92090652253. 1
92090652254. 2
92090652255. 3
92090652256. 4

Question Number : 65 Question Id : 92090613230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A student in class is visiually impaired and not participating in classroom activities.
A teacher should:
(1) Shout at him/her
(2) (Give punishment
(3)  Talk to him/her in person and motivate
(4)  Complain to the Principal and change his/her Action
Options :
92090652257. 1
92090652258. 2

92090652259. 3
92090652260. 4

Question Number : 65 Question Id : 92090613230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forddt Fan # v B =PEild & iR wan &1 nfafafrt & wrr 781 @ w1 21 ue e 31 A

(1) IR e

(2) IS G Al

(3) 399 G ¥4 H §1d B 3R Uidied Sl

(4) VUMD Y RIS AT 3R IS YA HT 98 o |
Options :
92090652257. 1
92090652258. 2

92090652259. 3
92090652260. 4

Question Number : 66 Question Id : 92090613231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A): The state has a right to intervene in, or restrict media operations and
devices of censorship and direct control in the interest of the

development of the country.

Reasons (R): Freedom of the media should be restricted to an extent keeping in

mind the economic priorities and developmental needs of the country.

In the light of the above statements, choose the most appropriate answer from the

options given helow :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

92090652261. 1
92090652262. 2
92090652263. 3
92090652264. 4

Question Number : 66 Question Id : 92090613231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I g1 ®yA U MU § U@ SHfUPHUA (Assertion A) B ¥U H fafed § I U IUD HRU
{(Reason nﬁm fl;

HHFYTA : T B U & fae™ & fea A Aifsa vl | gway &34 a1 |ifgar &1

ufdEitd S SR TR T a9 U FEa0 &1 SiUeR ¢ |

PRUIR : Hifsar &1 Wdadr &1 <0 &t fae™ mEavgsarsii iR nfdfe urufiiedrsi &1

& # TEd gU ufdefed faan s anfgu

SR HY & 3Maid |, A 3 70 fawedl 7 9 998 Iuge I &1 949 Hiforw

(1)
(2)
(3)
(4)

A 3R R HFI Hel § 3R R, A B el AT 8

A 3R R SHI GEl € AP R, A B G sareT Tl &
A TS &, AfT R WS ST B

ATE 8 ¢ AP R WEl ©

Options :

92090652261. 1
92090652262. 2
92090652263. 3
92090652264. 4

Question Number : 67 Question Id : 92090613232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion A and the other is

labelled as Reason R.

Assertion (A):  Persons who have worked in an organization for a long period of time
and perform well may not need capacity building and upgradation of

skills,

Reasons (R): Competent employees do not remain competent forever.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is false

(4) (A) is not correct but (R) 1s true

Options :

92090652265. 1
92090652266. 2
92090652267. 3
92090652268. 4

Question Number : 67 Question Id : 92090613232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I g $YF RT MU § U 3MUBYH (Assertion A) & w4 H fifed § O TEI IGD HRUI
(Reason R)a’TFﬂ ﬂ;

AMFYF A - 9 a1, oA UF ddl grafaly a@ [0 Sred # s fdar g ofR o1 e
uesH a1 g, 3901 &Har-FHml iR $Ied- 399 &1 avgdHdl el 81 bl
el

BRUIR : Y& HHAR Ued e el ed g |
SRR HY & HTeld H, -9 13U 70 fawedl § ¥ 9a Iuge IR &1 999 Hiforw

(1) A SRR T8l & 3 R, A I ol RS &

2 A SJRREHI Hel g, Al R, A DI el AR Tgl &
(3) AWEE AFARIE TS

(4) AWETEIE AfPTR TG

Options :

92090652265. 1
92090652266. 2
92090652267. 3
92090652268. 4

Question Number : 68 Question Id : 92090613233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion A and the other is

labelled as Reason H.

Assertion (A): Promotion of self-employment and wage employment schemes are

nutrition related programme in our country.

Reasons (R): Self employment and wage employment are social safety programmes

and therefore, qualify as public nutrition schemes.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) 15 the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) 15 not correct but (R) is correct

Options :

92090652269. 1
92090652270. 2
92090652271. 3
92090652272. 4

Question Number : 68 Question Id : 92090613233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I g1 $y JU U §: U B UT (Assertion A) F ®Y ¥ forfEd & dl ¥R 39D SR
(Reason R]gﬁm ff;

HHBYTA : TR T H, WATTR IR WGl AR oIS BT Wi U Umol Haiehl

SHHH B

HRUIR : TRIGR SR Helgdt AeHIR WHToS Y&l dRdldd SRsHH § 3R FHIT,

Hidui-e 9o giers & © 9 5 9] §Ri ¢ |

FURIR HYF & 3fale |, - G0 10 fawedl § ¥ 998 IugR IR &1 99 Difelw

(1)
(2)
(3)
(4)

A 3R R I Tl § 3R R, A ] Ue! RS &

A 3R R SHI U8l € AP R, A B UL e 7T &
ATEIE APT RS TR

ATE G & AT R UST B

Options :

92090652269. 1
92090652270. 2
92090652271. 3
92090652272. 4

Question Number : 69 Question Id : 92090613234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion A and the other is

labelled as Reason H.

Assertion (A): Home work helps learners for self learning at home.

Reasons (R): Home work must be given to children to keep them busy after school.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) is correct but (R) is false

(4) (A) 15 not correct but (R) 1s true

Options :

92090652273. 1
92090652274. 2
92090652275. 3
92090652276. 4

Question Number : 69 Question Id : 92090613234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 31 Sy U U € U@ SHUSHYF (Assertion A) & FU H faed § O I 3D BRI
(Reason m%}?\u H:

HUFU A ;e S, Rienfiai &1 R W G- srengH T el 3 g
HRUIR : Wpd & Uy el &1 ored TaA & fore Jg- S sawd i 9 9|
JURIRT HYA F 3feile |, -9 fGU 10 fadbedl 7 ¥ 998 IugeR IR &1 99 Difelt

(1)  ASRREHI 9l § 3R R, A P! el AR §

(2) A SRREH gel g, Ald R, A D1 ol TR el &
(3) AWEE AMPTIRIS TS

(4) AYETEE APTREENR

Options :



92090652273. 1
92090652274. 2
92090652275. 3
92090652276. 4

Question Number : 70 Question Id : 92090613235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion A and the other is

labelled as Reason R.

Assertion (A): The non-directive counseling process truns out to be a growth

experience of the counsellee.

Reasons (R): The counsellor’s role is comparatively in different counselling

processes.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is false

(4) (A) 15 not correct but (R) 18 true

Options :

92090652277. 1
92090652278. 2
92090652279. 3
92090652280. 4

Question Number : 70 Question Id : 92090613235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I € HuA AU U §: UF HUFBUA (Assertion A) & FU T fRdd g ol gEI IS HRUI
(Reason Rja'TF'EI ﬁ;

HYFYT A ;. TR-FERmHES Wl uisar e U6l & o4 3fg 819 & I &1 2
HRUIR : RIFET $1 YfheT fafis s ufdars § siendd FRp g g
IR $YF & 3MTadle H, 913 fGu M0 fasel 7 4 ¥el IR &1 999 S

(1) A SRRSH HEl € 3R R, AP Uel AR €

(2) A SRR GH Hel €, Al R, A B T8 R el &
(3) AUEE AFT RIS AR

(4) ATEITIE APTRAL

Options :

92090652277. 1
92090652278. 2
92090652279. 3
92090652280. 4

Question Number : 71 Question Id : 92090613236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion A and the other is

labelled as Reason R.

Assertion (A): K. Kasturirangan chaired the writing committee of National

Education Policy-2020.

Reasons (R): K. Kasturirangan is an educationist and teaches education in

Mumbai University.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 15 false

(4) (A) is not correct but (R) is true

Options :

92090652281. 1
92090652282. 2
92090652283. 3
92090652284. 4

Question Number : 71 Question Id : 92090613236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 &1 $yA AU MU §: UP 3MUHYA (Assertion A) & ¥4 H fied § a1 U IS SR
(Reason R}?:FF'CT p:

SIHFYT A T FERITH = AP RAaf i - 2020 B TG GG DI sieerar |
HRUR : &, SRR s [ayfaereay & v Renfag sk sienmes fRien 7 €
JWI HYA & 3HTadleh |, A AU e faswed] # 9 9l 3R &1 994 Fifere

(1)  ASRRIFEIHE T 3R R, A DI G AAT©

(2) A SIRREHI I €, AfH R, A P el RS el &

3) AUSE AFPTIRUETETR
(4) AUglIElg, AbIRTEI

Options :

92090652281. 1
92090652282. 2
92090652283. 3
92090652284. 4

Question Number : 72 Question Id : 92090613237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion (A): Children learn by motivation.

Reasons (R): Punishment is the best motivation.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 1s false

(4) (A) 18 not correct but (R) is true

Options :
92090652285. 1



92090652286. 2
92090652287. 3
92090652288. 4

Question Number : 72 Question Id : 92090613237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & Y QU MU § U USYA (Assertion A) & wU H faled § 1 gEI 39S BRI
(Reason R]ﬁi"{aﬂ H;

AMFYT A - el fimRer § ¥iEd g
PRUIR : TUE HaraH TR g1
I HYT & 3fdid 1, A 73U 778 f[dwedl § 9 T8l I &1 99+ Hifeid

(1) A SRRSH TSI € 3R R, A Bl el TS &

(2) A SR RGHI Tl §, Wl R, A &1 el RS T8l &
(3) AWEE AFARIE TS B

(4) AUGTEE, ABTREEE

Options :

92090652285. 1
92090652286. 2
92090652287. 3
92090652288. 4

Question Number : 73 Question Id : 92090613238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the planets in decreasing order in the context of their density

(A)  Jupiter

(B) Saturn

(C) Mercury

(D) Mars

Choose the correct answer from the options given below :
(1) (©), (D), (B), (A)

(2)  (B), (AN, (D). (C)

(3) (A (B), (C), (D)

(4)  (C), (D), (A), (B)

Options :

92090652289. 1
92090652290. 2
92090652291. 3
92090652292. 4

Question Number : 73 Question Id : 92090613238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tgl &1 39d g9d D Ha H ged §U HH § Haiyd S |

A FEHld
B. WM

C. g

D. HId

44 fau U faeedl d 9 9El It &1 994 Hifert -

(1) (C), (D), (B), (A)
2y (B), ), (D), (C)
(3)  (A), (B), (C), (D)
(4)  (C), (D), (A), (B)



Options :

92090652289. 1
92090652290. 2
92090652291. 3
92090652292. 4

Question Number : 74 Question Id : 92090613239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange in lyrical order

(A) Pullakusumita drum dal shobhinim
(B) Shasyashyamalam Matram

(C) Suhasinim, Sumadhur Bhashanim

(D) Sujalam Sufalam Malyaj Sheetlam

(E) Shubra jyotsna pulkit yvaminim

Choose the correct answer from the options given below :

(1) (D). (C). (A, (B), (E)
(2) (D). (B), (E), (C), (A)
(3)  (E), (C), (B), (D), (A)
(4) (D), (B), (E), (A), (C)

Options :

92090652293. 1
92090652294. 2
92090652295. 3
92090652296. 4

Question Number : 74 Question Id : 92090613239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g () H § S Ryd $ifeg |
A.  PpeadgiHd gA od TMHAH

B. YIRIATHEAN HIGH

C. eI, FHYR HITSiH

D. YW, YHamH, Hegs Sfdary

E. Y SUIcHl Yafhd TrfeHiy

13 AU 7 fadedi & | el IR 1959 DI ;

(1) (D), (C), (A), (B), (E)
(2) (D), B), (E), (C), (A)
3)  (E), (), (B), (D), (A)
(4) (D), (B), (E), (A), (C)

Options :

92090652293. 1
92090652294. 2
92090652295. 3
92090652296. 4

Question Number : 75 Question Id : 92090613240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In 1765, East India Company acquired the control over the Revenues of which states?

(A) Bengal
(B)  Bihar
(C) Orissa
(D) Madras
(E) Bombay

Choose the correct answer from the options given below :

(1) (A, B), (C)
(2) (B, D). @A)
(3) (A, (C), (D)

4)  (C), (D), (E)

Options :

92090652297. 1
92090652298. 2
92090652299. 3
92090652300. 4

Question Number : 75 Question Id : 92090613240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1765 H, 3% Sfear Al 7 & Tsal & Tord W Ad=u und & forar 2

A EME

B. fa&R
C. JsH
D. WaM
E. d

i U U fdsedl 4 9 9l IR &1 994 Hiforw

(1) (A, (B), (C)
(2) (B). (D), @A)

3 (A, (). (D)
(4) (), (D), (E)

Options :

92090652297. 1
92090652298. 2
92090652299. 3
92090652300. 4

Question Number : 76 Question Id : 92090613241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following continents in decreasing order in the context of population
growth rate.

(A) Africa

(B) Asia

(C) Latin America

(D)  Europe

(E)  Oceania

Choose the correct answer from the options given below :

(1) (C), (D), (E), (A), (B)
(2) (A, (E). (), (B), (D)
(3) (A, (B), (C), (D), (E)
4)  (C), (D), (A), (E), (D)

Options :

92090652301. 1
92090652302. 2
92090652303. 3
92090652304. 4

Question Number : 76 Question Id : 92090613241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S gfa o) & daH A Fafeifad werEiul &1 ued gu s A sgafiud Sifon
A, 3MBIdT

B. URmm

c. afes @i
D. M

E 3

4 fou e faeedl 7 9§ 9el IR &1 994 Sifor

(1) (C). (D), (E), (A), (B)
(2)  (A), (B), (C), (B), (D)

(3)  (A), (B). (C), D), (E)
(@)  (C), (D), A, (E), (D)

Options :

92090652301. 1
92090652302. 2
92090652303. 3
92090652304. 4

Question Number : 77 Question Id : 92090613242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange in the protocol order of following awards:
(A) Padma Vibhushan
(B) Padmashree
(C) Bharat Ratna
(D) Padma Bhushan
Choose the correct answer from the options given below :
(1 (D), B), (O), (A)
(2) (), (D), (B), (A)
(3 B D). @A), (©)
(4) (A (D), (B), (C)



Options :

92090652305. 1
92090652306. 2
92090652307. 3
92090652308. 4

Question Number : 77 Question Id : 92090613242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafeed RIeRI 61 Uieield HH § aiyd Hifen

A ORI faym
B. U4l

C. MRA
D. TRl YN

419 fdu U f[dedl & 9 98 IR 199 Hifg

(1) (D), B, (C), (A)
2 (C), (D), (B), (A)
(3)  (B), (D), A), (C)
(4)  (A), (D), (B), (C)

Options :

92090652305. 1
92090652306. 2
92090652307. 3
92090652308. 4

Question Number : 78 Question Id : 92090613243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following states in the increasing order of total population (according to
census 2011)

(A) Mizoram

(B)  Arunachal Pradesh

(C) Nagaland

(D) Meghalaya

(E) Manipur

Choose the correct answer from the options given below :

(1)  (A), (B), (C), (D), (E)
2) (@A), (B), (C), (E), (D)
(3)  (C), (A), (D), (B), (E)

(4 (A), D). (E), (C), (B)

Options :

92090652309. 1
92090652310. 2
92090652311. 3
92090652312. 4

Question Number : 78 Question Id : 92090613243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafafed Isal &1 (2011 BT ST & SFER) Fd ST & 9ad §UHH H Jaiyd Sifer|
A feiRT
B. S{EUMEA UcH

C. ANICIUS
D. WYY
E. AR

4t fou e f[dsedi 7 9 9t I &1 Tg- Hiferd -

(1) (A), (B), (C), (D), (E)
(2)  (A), (B), (C), (E), (D)
(3)  (C). (A, (D), (B), (E)
(4 (A), (D), (E), (C), (B)

Options :

92090652309. 1
92090652310. 2
92090652311. 3
92090652312. 4

Question Number : 79 Question Id : 92090613244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Vijaynagara kingdom Administration was divided in to different parts. Arrange

the following 1n correct sequence of Vijaynagara kingdom Administration (top to

bottom)

(A) Rajya/Mandalam
(B) Nadu

(C) Bhukti

(D) Grama

(E) Sthala

Choose the correct answer from the options given helow :

(1)
(2)
(3)
(4)

(B). (A), (C), (D)
(A), (B), (C), (D)
(A). (B), (D), (E)
(A), (B), (E), (D)

Options :

92090652313. 1
92090652314. 2
92090652315. 3
92090652316. 4

Question Number : 79 Question Id : 92090613244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ISR wsg &1 YA &5 Ui | [Jyifoa fem m un) Aafafey fTeaar aursg &
U & 9l FH (SW 9 ) # aid S|

A, TMUSTH
B. Ig

Cc. Hfed

D. W

E. ®d

A9 fou e fasedi A A 9Et IR 1 994 Sifolw

(1) (B), (&), (O), (D)
(2) (@A), (B), (O), (D)
(3) (A, (B), (D), (E)
(4) (A, (B), (E), (D)

Options :

92090652313. 1
92090652314. 2
92090652315. 3
92090652316. 4

Question Number : 80 Question Id : 92090613245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(GGiven below are two statements:

Statement | . Gender is a social construct and varies in every society.

Statement II  :  Sex 1s a biological construct, it is Universal though non-binary.

In the light of the above statements, choose the correct answer from the options given

below -

(1)

(2)

(3)

(4)

Both Statement [ and Statement Il are correct

Both Statement [ and Statement Il are incorrect

Statement [ is true but Statement 11 is ineorrect

Statement [ is false but Statement I is correct

Options :

92090652317. 1
92090652318. 2
92090652319. 3
92090652320. 4

Question Number : 80 Question Id : 92090613245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A G Hy Ru e &:

®YA | o7 U WIS 39§ SR UdS AT | uRafdd giar g
HYA || ; Toh1 0P Sifdd &A1 8, 98 SIS g, g — TR-fesmeri g1
SURIE HYH & HTelles H, 1 U 71U faded! # F Wel St 767 Sifon

(1)
(2)
(3)
(4)

HUF| RN S T &

HYF | 3R 1| ST T &

HY | T 8, AP HY 11 3 B
HY | 3T ¢, AfhT HY 1| T B

Options :
92090652317. 1
92090652318. 2



92090652319. 3
92090652320. 4

Question Number : 81 Question Id : 92090613246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements:

Statement | :  When children/ students with Special Educational Needs study in
general classrooms with their peers, the arrangement is called

‘exclusive education’.

Statement [I  :  In the ‘exculsive education’, the school make suitable adjusments
and modifications in its curriculum, teaching methods and

physical set-up.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement I are correct
(2) Both Statement [ and Statement I are incorrect
(3) Statement [ is true but Statement I is incorrect
(4) Statement [ is false but Statement Il is correct

Options :

92090652321. 1
92090652322. 2
92090652323. 3
92090652324. 4

Question Number : 81 Question Id : 92090613246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR JsERumUE:

HUYT | : e AR e are e /SEl &1 390 THEET B Ty GH BNl H g S
P HAWH Sl €, U8 AR Thifad Rier seadt 2

HUF Il : Upifad e ¥, [Jeey Iugew e §9101 § 3R 397 raTshH, e fafeai
3R ifs a1 # gRadd F1 8|

I DY & HTdid 1, A fSu 770 [deedl § 8 9gt It 994 Sifolg

(1) HYFIARNSAI9d 8

2  ®YF SR I IE A 8§

(3) YT TH g, AfpT B Il T §
(4) ®YT| MEG g, Afba B 1| g ©

Options :

92090652321. 1
92090652322. 2
92090652323. 3
92090652324. 4

Question Number : 82 Question Id : 92090613247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I : The Rig Veda 1s the earliest text of the Indo-European languages.

Statement II  : The Rig Veda is written in Sanskrit, but also includes many

Munda and Dravidian words.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement I and Statement Il are correct
(2) Both Statement [ and Statement Il are incorrect
(3) Statement [ is true but Statement 11 is incorrect
(4) Statement [ is false but Statement 11 is correct

Options :

92090652325. 1
92090652326. 2
92090652327. 3
92090652328. 4

Question Number : 82 Question Id : 92090613247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I A dyA RRu MU &
HUF | : BAE $31- TG U BT UEHIH T4 E |

HUF || : BIAG Spd ¥ foran 41 8, fh 399, $s qel iR alafeas el & ot wftya fan
e |

JUWIH HYT & 3l |, A U U f9hedl § 9 92l Il 994 Sifelw

(1) SYFIARNSHITT S

(2) YT SR I EH T &

(3) DY A E AfpADY 1 T &
(4) DY MUY g, AT HUT 1 IT B



Options :

92090652325. 1
92090652326. 2
92090652327. 3
92090652328. 4

Question Number : 83 Question Id : 92090613248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement [ : NEP-2020 aims to increase gross enrolment ratio in higher

education to 50 percent by 2035.

Statement I : To achieve above NEP suggests to open more Universities by

private philanthropy.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement I is true but Statement 11 is false

(4) Statement 1 iz false but Statement I is true

Options :

92090652329. 1
92090652330. 2
92090652331. 3
92090652332. 4

Question Number : 83 Question Id : 92090613248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e G RCACLRINES

DYT | : NEP — 2020 T IGGRT 2035 d 3= &I & # Fbd AHich 3a1d &1 50 Ufd=ra
d% g g |

HUF 1| : IUH B UId HA & o1 Nep ol dibusR gR1 #i¥e fAyfagredl &f Gid &1
LECECIES

JIWIad HYA & 3fdid H, A [EU 7 [deedi § 9 el IR &1 994 Bifeid

(1) SRS TI 8

(2) ®YFI SR SH A §

(3) Y| T™ g, b U 1| 3RH &
4) Y EIE, AP P ID &

Options :

92090652329. 1
92090652330. 2
92090652331. 3
92090652332. 4

Question Number : 84 Question Id : 92090613249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement [ :  C.Rajgopalachari was the first recipient of Bharat Ratna.
Statement I1 :  Khan Abdul Ghaffar Khan is the first foreigner to recieve Bharat
Ratna.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement I and Statement Il are false
(3) Statement I is true but Statement 11 is false

(4) Statement I is false but Statement I is true

Options :

92090652333. 1
92090652334. 2
92090652335. 3
92090652336. 4

Question Number : 84 Question Id : 92090613249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R dsERumUE:

®HUF | Ul TSR] R Id U &3 aTd Uy afdd 4 |

Y1 T Hegd THPR Wi HRd Id U - ara gyd fagsih oafdd 4|
IR HYA & 3Tdie H, A iU U faeedi # I el IR &1 9y Hifoy

(1) HYFISRNESHI I8

(2)  HYI SR 1 SHT 3T 8

(3) DY FAE, AfbA DY I g
(4) DY TIE, APT DY T &

Options :



92090652333. 1
92090652334. 2
92090652335. 3
92090652336. 4

Question Number : 85 Question Id : 92090613250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement [ :  Enviroment is defined as total planetary inheritance and the

totality of all resources including biotic elements.

Statement II  :  Sunlight is a biotic element.

In the hight of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement II are false
(3) Statement 1 is true but Statement 11 is false

(4) Statement [ 1s false but Statement Il 1s true

Options :

92090652337. 1
92090652338. 2
92090652339. 3
92090652340. 4

Question Number : 85 Question Id : 92090613250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



d= ey kU E:

HUF| : TG DI Yd YHSHY favred ok Sifde aal dfied gaw SaeEl &1 gofar & a0 3
gfeTee fabar i & |

S || . G B USRI U AfdP dd © |
IRIFd HYA & 3fdid H, A S0 70 fawedi 1§ 9 9el I &1 994 Sifelg

(1) HY IR NI TI 8

(2)  HYFI RN A B

(3) HYTITH g, AP HYT I I &
(4) HYT| HTA g, Afb HYT | I

Options :

92090652337. 1
92090652338. 2
92090652339. 3
92090652340. 4

Question Number : 86 Question Id : 92090613251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fiven below are two statements:

Statement [ :  The government uses income and assets to determine the poverty
line.
Statement 11 :  The government uses other factors, such as access to education,

health care, drinking water and sanitation to determine the

poverty line.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement I are false
(3) Statement I is true but Statement 11 is false
(4) Statement [ is false but Statement II is true

Options :

92090652341. 1
92090652342. 2
92090652343. 3
92090652344. 4

Question Number : 86 Question Id : 92090613251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



d= sy kg MU B
FYF | . WHR TRia! W@l &1 Fuiva 33 & o ma iR uREuRml &1 3w s3d 61

HYA || ; WHR TR @1 &1 Fuia 33 & U o SRS ol & R1en 9@ ugd, W 38-
W, U o 3R =51 1 IUdHT Fcl ¢

IIgd HYA & 3fdid H, A [GU 7 [decdl § 9 98l I &1 949+ Hifeig

(1) SR NS II 8

(2) YR ESH A §

(3) Y| ™ g, Afp U 1| A &
(4) DY Y g, AT HYT 1 TT

Options :

92090652341. 1
92090652342. 2
92090652343. 3
92090652344. 4

Question Number : 87 Question Id : 92090613252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following and choose the incorrect pair/pairs

(A)  Alluvial Soil — Northern plains of India
(B)  Black Soil — North west region of India
(C) Laterite Soil — Southern region of India

(D)  And Soil — Western region of India

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (D) only

(3) (A) and (C) only
(4) All are Incorrect

Options :
92090652345. 1



92090652346. 2
92090652347. 3
92090652348. 4

Question Number : 87 Question Id : 92090613252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafed 1 ufgd iR TTera g/ &1 =g o |
A.  EIg Ul - YRd & IR AeH

B. Tl Hal— YR $I IR — UiEw &7

C. TexI3e el - YRd &1 cfémh &8x

D. b gl - YRd S Uiy &3

- f&u e fawedl o ¥ |l 3R &1 99F S :

(1) &HddA3fRB

(2) &HddD

(3) PaAdA 3RC

(4) $AABSRD
Options :

92090652345. 1
92090652346. 2
92090652347. 3
92090652348. 4

Question Number : 88 Question Id : 92090613253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pick the incorrect ones

(A) M. K .Gandhi is also known as Mahatma

(B) 5.C.Boseis also known as Netaji

(C) Rabindra Nath Tagore is also known as Acharyaji
(D) Sardar Patel is also known as Lauh Purush

(E)  Jai Prakash Narain is also kown as Lok Nayak

Choose the correct answer from the options given below :

(1) (C) only
(2) (A) and (B) only
(3) (B) only

(4) (D) only

Options :

92090652349. 1
92090652350. 2
92090652351. 3
92090652352. 4

Question Number : 88 Question Id : 92090613253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 91 ] UgdH Hifere|

A, T, i B A & A F o S S g |

B. UHH. S/ &!Jdmeh & A J it S SIran g |

C. M=y TR S el & 4w I 2+ S S € |

D. ¥ER Ued bl gYsy & A I i SH1 Sl ¢ |

E OO USRI ARMEY & dib-Add & M F i S SIrd1 g |
I feu v faeedt & 9 96l IR &1 9g4 Fifou

(1) aacC

(2) FdAAARB

(3) PduaB

(4 PdaD
Options :

92090652349. 1
92090652350. 2
92090652351. 3
92090652352. 4

Question Number : 89 Question Id : 92090613254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



During 19t and 20th century powerful newspaper emerged against the British
Administration under fearless journalists.

(A) The Hindu :- G.Subramanayam

(B) Kesari :- G.K.Gokhale

(C)  Amirt Bazar Patrika :- S. Kumar and Motilal Ghosh

(D) Swadesmitram :- Sisir Kumar Ghosh

(E) Banganivasi :- N.N.Sen

Choose the correct answer from the options given below :

(1)  (D)only

2)  (A) & (C) only
3  (B) & (E)only
(1) (D) & (A) only

Options :

92090652353. 1
92090652354. 2
92090652355. 3
92090652356. 4

Question Number : 89 Question Id : 92090613254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1981 3R 204t At & IRMA e TEHRI & A1EA I FaH UE & 3vg Ived YRR
wEl 1 3ffaia g |

A fg=g - ot ggHUgH

B. HU{l-oll&. MEd

C. 3Wd ¥R UE®] - U, $AR AR Hidiar €91y
D. Wi - IRR $HAR 919

E & Farit - A 81

3 fau e fawedl # ¥ Wl IR &1 9uA Sifoie ;

(1) &ddD

(2) HAAA3NRC
(3) HAABSRE
(4) HadD AR A
Options :

92090652353. 1
92090652354. 2
92090652355. 3
92090652356. 4

Question Number : 90 Question Id : 92090613255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pick correct Capital-Nation combinations:

(A) Russia — Leningard
(B) Greece — Athens
(C) Pakistan — Kabul
(D) Srilanka — Dhaka
(E) U.5.A —New York

Choose the correct answer from the options given below :

(1) (B) and (E) only
(2)  (B)only
(3) (D) and (C) only
(4)  (A)only

Options :

92090652357. 1
92090652358. 2
92090652359. 3
92090652360. 4

Question Number : 90 Question Id : 92090613255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ASYTHT - Y & Wl Al BT I Difor
A TH-dFATG

B. "Ww-udw

C. UfdH - oEd

D. il - aThl

E YUqu i
9 fou v fdeed] O 9§ TEt IR &1 994 Hifo ;

(1) &dd E3AR B
(2) dd B
(3) &dd C3RD
(4) Hdd A

Options :

92090652357. 1
92090652358. 2
92090652359. 3
92090652360. 4

Question Number : 91 Question Id : 92090613256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pick the incorrect ones:

(A) Caste is a biological construct.

(B) Gender is a social construct.

(C)  Class is an economic construct.

(D)  Patriarchy gives women the responsibility to head the family.

(E)  Sexuality 1s hereditary.

Choose the correct answer from the options given below :

(1)  (A)(D) and (E) only
(2)  (B), (C) and (D) only
(3)  (C), (D) and (E) only
(4)  (B) and (C) only

Options :

92090652361. 1
92090652362. 2
92090652363. 3
92090652364. 4

Question Number : 91 Question Id : 92090613256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3G d1 B UgdH DI |

A. I U Sifdd FA17 |

B. foRT us a1 E |

c. afu® nfie =g |

D. gy aige ®1 URER & HRaa &1 IR UgH S ¢ |
E.  RThal dITd gl 2 |

3 f3u U faswsedl # @ Ul IR &1 99 Bifere ;

(1) SdadADSMRE
(2) ®ddB, C3RD
3) HAAC, DIARE
(4) FAABIARC
Options :

92090652361. 1
92090652362. 2
92090652363. 3
92090652364. 4

Question Number : 92 Question Id : 92090613257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct combination:

(A) Pandit Vishwa Mohan Bhatt — Tabla
(B) Pandit Hariprasad Chaurasia — Flute
(C) Ustad Zakir Hussain — Sursingar

(D) Ustad Amzad Ali — Harmonium

(E) Pandit Ravi Shankar — Mridang

Choose the correct answer from the options given below :

(1) (B) only
(2) (A) and (B) only
(3) (C) and (D) only

(4) (D) only

Options :

92090652365. 1
92090652366. 2
92090652367. 3
92090652368. 4

Question Number : 92 Question Id : 92090613257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e WIeH @1 UgdH Biforg

A, Ufsd fayHgT W - adan

B. URSd eRuwume dRRm- aigd

C. JG 3G 3(ell - SRATH

D. Ufgd A= — gm

A QT U fdspedl # ¥ Tl I &1 94 Sifeiu -

(1) dd B

(2) Hdd A3RB

(3) &dd C3RD

(4) dd D
Options :

92090652365. 1
92090652366. 2
92090652367. 3
92090652368. 4

Question Number : 93 Question Id : 92090613258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



During the 1% world war there were two major alliances in world —Allied powers and
Central powers.

(A) Allied Powers — Britain, France and Russia

(B) Central Powers — Turkey, Germany and Austria

(C)  Allied Powers — Hungary, Russia and Britain

(D) Central Powers — Germany, Russia and U.5.A.

Choose the correct answer from the options given below :

(1) (A)only

(2)  (A)and (B) only
(3)  (B)and (C) only
(4)  (C) and (D) only

Options :

92090652369. 1
92090652370. 2
92090652371. 3
92090652372. 4

Question Number : 93 Question Id : 92090613258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



v fayge & R fay & < uiw Sl 6 -dag faaal SR S el
A Udg wfddl - f6ed, wid ok &9

B. &g wfdadl — g, ol SR siffeeran

C. Ydg wfdadl - g7, ¥4 SR forew

D. Py Ul - o, T 3R FY IT ARSI

e 3T U faseul # ¥ Wel IR &1 99 Hifoiu :

(1) dd A,

(2) Had A, 3R B

(3) &dd B3R C

4 &4dd C 3RD
Options :

92090652369. 1
92090652370. 2
92090652371. 3
92090652372. 4

Question Number : 94 Question Id : 92090613259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mateh List T with List 11

Match the following with vear of their establishment

List I List 11
(A) International Bank of Reconstruction and () 1966
Development (IBRD)
(B) International Finanecial Corporation (IFC) (I) 1960
(C) International Development Asssociation (III) 1945
(IDA)
(D) International Centre for Settlement of (IV) 1956

Investment Disputes (ICSID)

Codes:

(1) (A)-ID), (B)-(IV), (C)-(1D), (D)-(I)
(2)  (A)-0V), (B)-(ID), (C)-(), (D)-(II)
(3)  A-D, (B)-1D, (O)-(ID, (D)-IV)
(4) (NI, (B)-(I), (C)-(D), (D)-(IV)

Options :

92090652373. 1
92090652374. 2
92090652375. 3
92090652376. 4

Question Number : 94 Question Id : 92090613259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & G1Y Gt 1 1 e iforg

- Tt -
(A)  SfRTPTE g 3R faeTd da (1BRD) O 1966
() SicRiPTg fawdita FAem (Fo) 1) 1960
(C) SHaRiPTY fassra W13 (IDA) (I11) 1945

(D) 3iaeipia faw faarg e &= (csip) (IV) 1965
A9 AU U faeped 9 9 |el IR &1 94 S

(1)  (A)-(IID), (B)-(IV), (C)-(II), (D)-(I)
(2)  (A)-AV), (B)-II), (C)-(), (D)-(II)
(3)  (A)-D, (B)-AD), (C)-(1ID), (D)-(IV)
(4)  (A)-(IID), (B)-(ID), (C)-(I), (D)-(IV)

Options :

92090652373. 1
92090652374. 2
92090652375. 3
92090652376. 4

Question Number : 95 Question Id : 92090613260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List 11

List I List II
(A) Jallianwala Bagh Massacre (D 1931
(B) Quit India Movement (II) 1948
(C) Martyrdom of Bhagat Singh (IIT) 1919
(D) Assassination of Mahathma Gandhi (IV) 1942

Codes:

(1)  @)-IV), (B)-11D), (C)-AD), (D)-(D)
(2) (AL, (B)-(IV), (C)-(D, (D)-(II)
(3)  (A)-aD, (B)-(II), (C)-(D), (D)-AV)
4 (A)-O), (B)-(ID, (C)-(1IL), (D)-IV)

Options :
92090652377. 1



92090652378. 2
92090652379. 3
92090652380. 4

Question Number : 95 Question Id : 92090613260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & Iy g 1 B B S

gl 1
(A) Sifciarar SFTgdBis (1) 1931
(B) HRd DI T=_leH () 1948
(C) WHIdRE &1 Wered (1 1919
(D) HETHT el &l g (V) 1942

41 fou U fadedi | | 981 IR 1 9899 ST

()  (A)-(IV), (B)-(1ID), (C)-(II), (D)-(I)
(2)  (A)-(ID, (B)-(IV), (C)~(I), (D)-(1T)
(3)  (A)-(D, (B)-(I11), (C)-(I), (D)-(IV)
(4)  (A)-(D, (B)-(ID), (C)-(I1I), (D)-(TV)

Options :

92090652377. 1
92090652378. 2
92090652379. 3
92090652380. 4

Question Number : 96 Question Id : 92090613261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11

List I List I
(A) liquid Diet (I) Buttermilk
(B) Standard Diet (II) Mashed Apple
(C) Soft Diet (IIT} Seasonal Khichdi
(D) Mechanical Soft Diet (IV) Egg Curry

Codes:

(1)  (A)-ID, (B)-(IV), (C)-(I1I), (D)-(I)
2 (A)-D, (B)-(IV), (C)-(II), (D)-(ILI)
(3 (A)-(D), (B)-(IV), (C)-(IID), (D)-(II)
(4)  (A)-(D), (B)-(IID), (C)-(IV), (D)-(II)

Options :

92090652381. 1
92090652382. 2
92090652383. 3
92090652384. 4

Question Number : 96 Question Id : 92090613261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LCEEIVE CllEalEGIEEI Y

gl Tt -
(A) TR 3MER () BT #{al)
(B) WF® 3HER (I 99 B I (AS THa)
(C) Hg AR iy HreH et
(D) Fifdd Hg 3MER (IV) SFSTHIA

414 feu v fasedi & | ¥l IR 1 99 Do

(1) (A)-(I1), (B)-(IV), (O)-(III), (D)-(I)
(2)  A)-(I), B-(IV), (O)-(1I), (D)-( I )
(3) (A1), B-(IV), (C)-(III), (D)-(II)
(4)  (A)-(1), (B)-(III), (O-(IV), (D)-(1I))

Options :
92090652381. 1



92090652382. 2
92090652383. 3
92090652384. 4

Question Number : 97 Question Id : 92090613262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Mateh List I with List I1

List List 1T
(A) Prithviraj vs Muhamad Ghori (I) Battle of Plassey
(B) Lord Clive vs Shuja-ud-Daula (II) Battle of Buxar
(C) Babar vs Ibrahim Lodi (II1) Battle of Tarain

(D) Bnrntish vs Mir Qasim-Shuja-ud-Daula  (IV) Battle of Panipat

Codes:

(1) (A)-(II), (B)-(IV), (C)-(1D), (D)-(D)
(2)  (A)-ID, (B)-(), (C)-(IL), (D)-AV)
(3)  (A)-(ID), (B)-(D). (C)-(IV), (D)-(II)
(1) (A)-D), (B)-(D), (C)-1V), (D)-(L)

Options :

92090652385. 1
92090652386. 2
92090652387. 3
92090652388. 4

Question Number : 97 Question Id : 92090613262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1)  (A)-(II), B)-(IV), (O)-(1I), (D)-(1)
(2)  (A)-(II), (B)-(I), (O)-(1II), (D)-IV)
(3)  (A)-(II), B)-(1), (O)-(1IV), (D)-(1I)
(4)  (A)-(I), (B)-(II), (O-(1V), (D)-(I1I)

Options :

92090652385. 1
92090652386. 2
92090652387. 3
92090652388. 4

Question Number : 98 Question Id : 92090613263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11
List 1

Indus valley civilization Site

(A) Harappa
(B) Kalibanga
(C) Lothal

(D) Banawali

Codes:

(1) (A)-(ID, (B)-(IV), (C)-(I), (D)-(ILT)
(2) Q- (B)-(D), (O)-(ID, (D)-AV)
(3 (A)-IV), (B)-(D), (C)-(I), (D)-(ID
(1) (A-D, (B)-1D), (C)-(AV), (D)-(ID

Options :

92090652389. 1
92090652390. 2
92090652391. 3
92090652392. 4

Question Number : 98 Question Id : 92090613263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) A-(II), (B)-(IV), (C)-(1), (D)-(1IT)
(2)  (A)-(II), B)-(1), (C)-(1I), (D)-(1V)
(3)  (AW-(IV), (B)-(I), (C)-(III), (D)-(1I)
4)  @-(1), (B)-(1I), (O)-(1V), (D)-( 1)

Options :

Range of C14 dates
@ 2875-1240 BCE
1) 2655-1570 BCE
(I1T) 3508-1905 BCE
(IV) 2560-1250 BCE



92090652389. 1
92090652390. 2
92090652391. 3
92090652392. 4

Question Number : 99 Question Id : 92090613264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Matech List I with List I

List 1 List I
(A) Parakram Diwas (D) 20 August
(B) Ekta Diwas (II) 23 January
(C) Sadbhawna Diwas (III) 30 January
(D) Shaheed Diwas (IV) 31 October

Codes:

(1) (A)-ID), (B)-(D), (C)-(IV), (D)-(IIT)
(2)  (A)-I), B)-(IV), (C)-(I), (D)-(II)
(3)  (A)-(IID), (B)-(D, (C)-(II), (D)-(IV)
(4)  (A)-IV), B)-ID, (O)-(ID), (D)-I)

Options :

92090652393. 1
92090652394. 2
92090652395. 3
92090652396. 4

Question Number : 99 Question Id : 92090613264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A)-(II), (B)-(I), (O)-(1V), (D)-( I )
2. (A)-(ID), (B)-(IV), (O)-(1), (D)-(11I)
3. (A)-(II), (B)-(1), (O-(II), M)-(1IV)
4. (A)-(1IV), (B)-(II), (C)-(LI), (D)-(I)

Options :

92090652393. 1
92090652394. 2
92090652395. 3
92090652396. 4

Question Number : 100 Question Id : 92090613265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mateh List I with List I1

List List 11
(A) Meteors and Meteoriter are also (I) Miner planets
called
(B) Astroids are also known as (II) Comets

(C) The large special shaped galaxy is (III) Shooting star
called

(D) These are made up of frozen gases (IV) The milky way
and are also called

Codes:

(1)  (A)-(ID), (B)-(IV), (C)-(D), (D)-(IT)
(2)  (A)-(ID, (B)-(D). (C)-(IV), (D)-(IT)
(3)  (A)-(D), (B)-(I), (C)-(I1D), (D)-AV)
(4) (A, (B)-AV), (O)-aD), (D)-(D

Options :

92090652397. 1
92090652398. 2
92090652399. 3
92090652400. 4

Question Number : 100 Question Id : 92090613265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1)
(2)
(3)
(4)

(A)-(III), (B)-(IV), (O)-(1), (D)-(1I)
(A)-(1II), (B)-(I), (C)-(IV), (D)-(1I)
(A)-(1), (B)-(11), (O)-(IIL), D)-(IV)
(A)-(III), (B)-(IV), (C)-(1I), (D)-(I)

Options :

92090652397. 1
92090652398. 2
92090652399. 3
92090652400. 4



